







$$G(s) = \frac{b_1 s + b_0}{s^2 + a_1 s + a_0}$$

$$Y = G(s)u \quad \longleftrightarrow \quad \underline{\underline{\ddot{y} + a_1 \dot{y} + a_0 y = b_1 \dot{u} + b_0 u}}$$

$$Y(s) = \frac{N(s)u}{D(s)}$$

$$\xi(s) = \frac{u(s)}{d(s)}$$

$$Y(s) = N(s) \xi(s)$$

$$\xi = \frac{u}{s^2 + a_1 s + a_0}$$

$$y = (b_1 s + b_0) \xi$$

$$\boxed{\ddot{\xi} + a_1 \dot{\xi} + a_0 \xi = u}$$

$$\begin{cases} x_1 = \xi \\ x_2 = \dot{\xi} \end{cases}$$

$$\dot{x}_1 = \dot{\xi} = x_2$$

$$\dot{x}_2 = \ddot{\xi} = -a_0 \xi - a_1 \dot{\xi} + u$$

$$= -a_0 x_1 - a_1 x_2 + u$$

$$\frac{d}{dt} \underbrace{\begin{bmatrix} x_1 \\ x_2 \end{bmatrix}}_{\substack{\text{state} \\ x}} = \underbrace{\begin{bmatrix} 0 & 1 \\ -a_0 & -a_1 \end{bmatrix}}_A \underbrace{\begin{bmatrix} x_1 \\ x_2 \end{bmatrix}}_x + \underbrace{\begin{bmatrix} 0 \\ 1 \end{bmatrix}}_B u \quad \text{state equation}$$

$$\dot{x} = Ax + Bu$$

$$y = b_1 \dot{\xi} + b_0 \xi$$

$$= b_0 x_1 + b_1 x_2$$

$$= \underbrace{\begin{bmatrix} b_0 & b_1 \end{bmatrix}}_C \underbrace{\begin{bmatrix} x_1 \\ x_2 \end{bmatrix}}_x$$

What if $y = \underline{b_2 \ddot{\xi}} + \underline{b_1 \dot{\xi}} + b_0 \xi$?

$$\uparrow \quad b_1 x_2 + b_0 x_1$$

$$= b_2 \dot{x}_2 = b_2 (-a_0 x_1 - a_1 x_2 + u)$$

$$y = (b_0 - a_0 b_2) x_1 + (b_1 - a_1 b_2) x_2 + b_2 u$$

$$y = \underbrace{[b_0 - a_0 b_2; b_1 - a_1 b_2]}_C \underbrace{\begin{bmatrix} x_1 \\ x_2 \end{bmatrix}}_x + \underbrace{b_2}_D u$$

$$\dot{x} = Ax + Bu \quad x(0) = x_0 = \begin{bmatrix} f(0) \\ \dot{f}(0) \end{bmatrix}$$
$$y = Cx + Du$$